ADDIZIONI E SOTTRAZIONI

Metti in colonna e calcola:

36 +15 =

24 + 29 =

37 +16 =

18 +32 =

29 + 29 =

55 - 42 =

59 - 35=

46 - 21=

52 - 12 =

38-34=
da| u da| u da| u da| u da| u

+ + + + +

da| u da| u da| u da| u da| u




ADDIZIONI E SOTTRAZIONI

Metti in colonna e calcola:

26 + 15 =

24 + 28 =

36 +16 =

17 + 32 =

25 + 29 =

54 - 32 =

56 - 35 =

49 - 23 =

42 -11=

58 - 35 =
da| u da| u da| u da| u da| u

+ + + + +

da| u da| u da| u da| u da| u




ADDIZIONI E SOTTRAZIONI

Metti in colonna e calcola:

7+48 =
14 + 46 =

47 + 9=
42 + 18 =
13+38=
57 - 4=
44 - 23 =

49 - 30 =

31-11

54 - 52 =

+ +
da| u da| u da| u




ADDIZIONI E SOTTRAZIONI
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ADDIZIONI E SOTTRAZIONI

Metti in colonna e calcola:

29 + 14 = 'B'
16 + 35 =
13 +39 =
24 + 29 = ®\e O
37 +14 = Uin b
55 - 32 =
37-25-= \ D
49 - 16 = A”E &
oo )
55 - 43 =
da| u da| u da| u da| u da| u
+ + + +
da| u da| u da| u da| u da| u




ADDIZIONI E SOTTRAZIONI

Metti in colonna e calcola:

35+15 =

29 +2
34+2

17 + 28 =

8 =

7 =

15+ 37 =

48 - 3
36 -3

59 -10-=

39-2
35-2

o=

2=

2=

1=

da| u da| u da| u
+ +
da| u da| u da| u
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